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QUESTION 1

A team selects a Product Backlog Item (PBI) for the Sprint Backlog. What must a team do to finish the Product Backlog
Item it selects?

A. As much as can be done in the Sprint before the deadline.
B. As much as is required to satisfy the definition of \\'done\\'.
C. Analyze, design, program, test and document the PBI.

Correct Answer: B

QUESTION 2

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint.

What is the most likely reason that the team did not meet the Sprint objectives?
A. The Product Owner is unable to prioritize.

B. The team is lacking skills.

C. The team did not plan the Sprint effectively.

D. The team is over-worked.

Correct Answer: C

QUESTION 3

Collaboration is the most important parameter for the success of an Agile team. What term best describes this type of
interaction?

A. Distributed team working.
B. Information radiator sharing.
C. Osmotic communication.

Correct Answer: C

QUESTION 4

A team has eleven members spread over two locations across two time zones. One of the locations has six team
members and the other team has five.

Where should a Scrum Master be located?
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A. Alternate the Scrum Master between both locations.
B. Appoint a local Scrum Master for both teams.
C. The Scrum Master is located in one of the teams.

Correct Answer: B

QUESTION 5

Who should update the work estimates during the Sprint?
A. Only the team members

B. The Project Manager

C. The Product Owner

Correct Answer: A
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